Cassini Solstice Mission Titan Flyby Summary

REFER RA ORY 110818 Revision 9, 140220
RANGE(KM) | | |- > 290k 200k 140k 81k 81k 140k 200k 290k
Angular Diameter (degrees)| 0.5 0.7] 1.1 1.8 133-degrees @ 15 mins E
b d d to 0 Outbound fro 0 5 S
R Q@ D DO A g 0 9 8 0 4 6 8 0 4 6 8 0 Bo De de eg
4 S61 07/07/10 88 00 4 004 Dual PB error| CIRS. RADAR [CAP! [CAPS RADAR o o s e "o CT0 Out 16.035 -56.2 | 303.6| 82
- T S S S S A S T S S S A R L
. 8 S63 09/24/10 26 8:38:4 | CIRS | vivs VIMS co ) Out 15.958 -14.7 [290.5] 60
= I I T, 1T [ T T T [T T [T T T 7
40 S64 0 0 926 Safing PR ////,W s S s () 1) Out 15.828 355 [108.2] 121
S ] S S S S s S S|
45 S66 02/18 049 6:04 6 CIRS CAPS with HGA to Earth for RSS | cRrs fc7o ) | IN 20.621 0.7 [2445] 62
S S S S S S S T T 1
47 S67 04/19 09 05:00:39 00 cAPS | G0 )@ Out 14.254 0.1 [106.9] 101
T S S S S S S B T S —
6 8 S68 05/08 8 44 | | CIR || vims CIRS [G70 IN 19.787 0.0 [2476] 47
I T T S —— 1
hall 149 S68 06/20 8:32:0 P No Dual PB, DSN negotiations [RADAR | cRrs | | wvivs CIRS ) Out 12.248 0.1 | 106 | 73
- I I I I I I I 1T [ I I I I I I I I I I I I I
g 0 09 02:50:06 [ | CIRS |w caps m 670 | [ z [[N]OV] 1755 0.4 [60.23| 159
2 1 [ T [T [ [T T 777 I II — — T T T T | [ 1 - S
9 E 8 4 0 XY Originally CAPS CIRS | VIMS crs | C70 @-2 Out 12.786 7.4 [290.9] 100
g [ T T T T T T T T 7 T T S S S S S S T T T T T 7 Z
80 9 01/0 00 8 9 5 CIRS |%§ JrADAR |  wvivs G70 S [ IN [V _|18.646 -59.6 [246.9] 75.9
S — T T I — T T [ T T T 7 2
60 01/30 030 48 0 & CIRS m 1SS CIRS G70 o [out 12.692 59.7 [ 105.1] 96.3
S — T S —] T T T T T T o
6 02/19 050 08:4 80 CIRS Jiss CIRS | M70 T 1 Z [N 18.343 95 [6142] 143
S S —] T T T 7 T S S S S S s S o)
66 0 4 01:10 9 VIMS CIRS RADAR RADAR | vivs | CIRS | M70 @ | Out 13.619 727 |127.7| 71.2
I — [ T [ T 7 T S S S O B 5
6 06/06 9 00:0 959 cRs __|___vivs CIRS |RADAR m CIRS Jero ig Out 13.636 38.9 |282.7] 74.6
] S —] T T T 71 T [T T T T [ T T T T T T =
69 S74 0 06 0:03:0 0 S CIRS VIMS crs [ vms ] CIRS | VIMS | [0 ) = [out 13.69 62.0 | 149.3] 58.3
1 1 1 L - I
6 09126 0 14:35:38 956 I GRS Out 13.443 62.6 | 200.6| 46.6
Ui PBErOr [ |1 | ——
4 6 8 0:22:08 9 CIRS VIMS Out 13.224 11.7 | 124.7] 68.2
T ——
6 4 08 0 I 1 Out 13.244) 259 | 147.9] 44.1
I —— T
9 8 0 048 01:56 9 ‘ Out 13.191 21.1 | 154.9] 34.8
T T 7 I T !
90 8 8 04/0 0 4 400 CIRS. VIMS CIRS. Jm70 ] Out 12.869 -16.5 | 129.7] 68.7
[T T [T 7 I —— T I ) —— [T [T T [T T T T T
9 90 8 0 4 970 CIR [RADAR | 1SS CIRS. M70 Out 12.859 46.1 [239.9] 50.3
I —] —] S —] T T T T T 7 | —] T T T T T T 7
9 94 9 07/10 9 400 S CIRS. [RADAR VIMS 1SS C70 Out 12.906 37.0 |234.7] 45.6
I — TTTI T T [ T T T 7 — T T T T T T 7
9 9 9 07/26, 0 6 99 CIRS 1SS | vimMs 1SS | CIRS. VIMS C70 h Out 12.843 28.1 |249.2| 58
1 — —] [T —] T T T T T T 7
9 97 S80 09 07:43:56 9 | 1SS vivs | CIRS Vivis__| c70 oo Out 12.501 17.3 | 206.1| 21
— S S S A S T S S S S S S i
98 S80 10/14 87 04:56 6 ﬁ, | CIRS 1 RADAR RADAR | CIRS | c70 _'q Out 124 8.3 |205.3]24.7
~ n T T T T T T 717 1T I S S S S S s S S
96 [l 199 S81 12/0 00:41:19 400 "8 T s I oS T Vs T 70 1 N 12525 36| 143.4[ 504
B R — T T S S S S S S S
§=l 200 S82 01/01/14 00 4 400 ﬁ. | cirs m vivs | | cRs CIRS | c70 IN 12.496 -14.1[176.7] 35.2
S s — TITITT S S S S N S |
98 =l 201 S82 02/02/14 0 9 8 20 6 ﬁ_ | I | [RADAR | CIRS fcro )) IN 12.287 -22.6 | 176.8] 43.9
T T T T T T T T T S S S S S S s S S S
9 0 82 03/06/14 06 6:26:4 00 RSS | C70 IN 12.055 -31.1 ) 176.9| 52.6
T T [ T T T 7 — 1T S S S S S
00 03 S83 04/0 09 41:14 96 | crs | VIMS Jcir Jvi m‘ms CIRS fc7o ) IN [V ]11.995 -36.8 | 187.7] 59.5
1 — T S S S S S N
0 04 S83 0 4 6 80 994 @& CIRS WP RSS WP | CIRS | C70 Ii Out | R]23.968 -37.3]161.7] 158
— T T [T T T T — [ [T T T T —
0 0 84 06/18/14 69 8 80 9 CIRS RSS | CIRS 1SS C70 Out | R |23.766) -36.9 | 178.6| 165
— —] S — I [ T T T T T T 7 — T T T T T 7
0 06 S84 07/20 0 0:40:58 0 CIRS VIMS * CIRS IS C70 Out JUV]23.757 -31.8 | 178.9] 171
I — [T T[T 7 [T [ T T 777 B — [ T [ T T T 7 1
04 0 85 8 4 08:09:09 0 6 = CIRS VIMS | RADAR IRAD VIMS I CIRS. Iss Icle | C70 | Out 23.872 34.5 O 11.9
I — — T —— S —— S S S S S S
0 08 S85 9 4 265 0O 9 400 vivs | ciRy CIRS | c70 Ii Out | U]23.896 RN 0.49 KA
I —— — T —— I S S S S S S
06 09 S86 10/24/14 297 02:40:30 0 EE] | CIRS | I | RSS | VIMS CIRS | C70 _ﬁ, g | Out 2371 375 314
I I — | —] S S S S S S S S B =
0 0 S86 0/14 344 6 980 | ss VIMS CIRS | C70 |§ Out 23.355 53.8 | 57.43| 56
I ——] —— S S S S O S <
08 8 0 9:48 970 CIRS | vws | |raoAR | | CIRS Jc7o ))i‘: = [out 23.355 69.3 |EIEEN 45.8
R — T [ T T T T T T T 7 ——) =
09 8 04 08:04 00 VIvS Vivs_ ] CIRs m CIRS c70 ) : Out 23.485 787 IE 55
T T T T 7 T T T T T T T T T T T S — s
0 21388 03/16/15 | 075 | 14:29:49 2275 \") | CIRS. | VIMS CIRS C70 ) 8 Out 23.516 74.8 194.96] 70.5
T T T T 7 R — I Ty — T T T T T [ [ T T T T T T T 7 I O
' |215)S89| 05/07/15 | 127 | 22:50:24 2722 CIRS VIMS | CIRS M70 )) ‘ ‘ ‘ E IN 6.2349 -0.8 |166.96| 33.8
= T T [T T 7 [T T T T 7 [T T S S S S S S S S S N
g 218|S89] 07/07/15 | 188 | 08:09:50 10953 CIRS 1SS | CIRS | vims ] CIRS | C70 12 [ou 0.9187 0.8 |2939[ 785
2 N — R — T T T T T S S S S S s S S S S =
% 222[S91] 09/28/15 | 271 [ 21:37:13 | 302 [ 1036 T ﬁ, [ crs Es' CIRS VI T CIRS ‘gm )) EN 6.7106 -0.8 |61.38] 41.9
g S —— — S S — T [ [ [T T T T T
225[ 591 11/13/15 | 317 | 05:46:34 11920 CRS ViV CRS | vms | iss [[cRs w\/ms | 70 | Out 25481 144 [1224] 918
— I I I I I I I | | | I I | | | | [ RARLRAAA] | I I I I I I I I I ! I I




Cassini Solstice Mission Titan Flyby Summary

R R RA OR 0818 Revisio 0220
RANGE(KM) | | | > 290k 200k 140k 81k 81k 140k 200k 290k 5
Angular Diameter (degrees] 0.5 0.7 1.1 1.8 [33-degrees @ 15 mins. E
b d bound to 0 Outbound fro 0 S S a
R Q Date DO A g ] 9 8 6 4 0 9 ] 6 4 6 8 9 (] 4 6 8 9 ] 4 6 Bound De de e
230[ 92| 01/16/16 | 016 | 02:20:52 3817 [ CIRS c70 Out 2.6677, -8.4 | 8005] 99.4
! ! ! | ! ! ! ! ! ! ! I
6 [231]S92] 02/01/16 | 032 | 01:01:25 1400 | <70 Out [UV] 2.6346; 839 | 174 [ 120
I I I il I I I I I I I I
[232]'s93[ 02/16/16 | 047 | 23:52:03 | 412 | 1018 | c70 K Out | R [2.5869 -38.8 | 1285|122
I I I | I I I I I I I I |
[234]593 [ 04/04/16 [ 095 | 19:47:59 | 143 | 990 CIRS | G70 | out [UV]2.2434 -63.3 | 245.7 138
I I I I I I Il I I ! I I I I I il I
Tl " [235]S94 | 05/06/16 | 127 | 17:00:45 | a15 | 071 CIRS Iss CIRS | c70 Out | R2.0804 -60.2 [ 177.9] 138
b | | I | | | | | | |
O = [236[594] 06/07/16 | 159 | 14:12:37 | 524 | 975 G70 | Out 2.183] -36.8 | 146.3| 124
] | | I I I I I I I I
£[238]S95 | 07/25/16 | 207 | 10:04:39 | 391 | 976 c70 A Out ['V]2.2366 7.4 [1294] 101
| | I I I I I I I I
[239]S95 | 08/10/16 | 223 | 08:37:30 1599 __iss | c70 Out 2.1524] 9.2 [126.4] 91.9
I L I | | | | | | | |
[243]S96 | 09727716 | 271 | 04:23:17 1737 CIRS VINS. G0 | Out [OV]1.7553 20.9 [126.1] 88.1
I | | I I | I I I I | I I I |
248|S96 [ 11/14/16 | 319 | 00:02:00 | 450 | 1582 crs [ iss | crs | vims | RSS | CIRS | 1ss CIRS Jc7o )ji Out 1.7248 36.1 [122.2] 79.7
L L L L L L L L L L L L L | I[NNI NEEE ! ! ! ! ! ! ! ! ! ! ! ! ! ! | ! ! ! ! ! I I
250(S97 | 11/29/16 | 334 | 22:20:36 3223 ViMS iss | V] CIRS | G70 ] Out 1.8142 413 | 128 | 82
I I I I I I I I I I I I[NNI REEI I I I I I I I I I I I I I L I I ] | | | |
- E[270[599 [ 04722777 | 112 | 06:20:03 | 405 | 979 D/L unknown CIRS 1s5s | CRrs 1SS | [RADAR | vins CIRS D/L unknown| | Out 1.3232 66.5 [95.12] 61.5
T P T T T T 1 T T T T M T T T T T T T T T 1 T T T 1
Predicted Avg Hydrazine use all XXM (g): 332 Predict ﬁEngineday ) [Instrument 10 Pointer Please direct questions or comments regarding this Summary to Jo Pitesky (x3-7747) Stellar & Solar | UV|Earth| R |INMS | | a
Average Hydrazine use to date (g) : 285 Caboose day ;-'__'.'f# Data lost ‘ ‘ ‘ Solar| UV|+MAG ‘I+M Tail
[ ] [ ] | [ ] LT T 1 Stellar] U |Hi-Res Flank Out
1 | | | |RSS LGA opportunities - T105, T110, T111, T115, T116, T123 | Nose




